


�ŠÑ]Šb‰�XZy~ÐÜsZq-9c*oƒ eeeegggg qgzfsÎZÑ]&**åÒ**]~ÐCÙZq-Æa .I

8 × 1 = 8 F,+ìX9�Šw»ZN[™,Zzgws{Æ‚Bå�Z[sX

ƒ@*ì A ∩ B A$ƒ B = { 4,  20,  28 } Zzg A = { 4,  8,  12,  16,  20,  24 } Z¤/ .1

{ 4,  8,  12,  16,  20,  24,  28 } (A)

{ 4,  20 } (B)

{ 28 } (C)

{   } (D)

ƒ r Zzg¬xÚ  a yÎ~£°ÆÑözŠZg»y»ù·¥x™ä»Ÿ‚HìT»ª¥Á .2

(A)

(B)

(C)

 =  a ( 1 - r ) (D)

ƒA$ L Zzg H !*nKM (LCM) ZzgfzZDsZ
 (HCF) »¬ŠZW B Zzg A ŠzZ°ZŠ .3

A × H  =  L × B (A)

A × B  =  L × H (B)

A + B  =  L + H (C)

A + B  =  L - H (D)
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»Šgzì P ( x ) = M¥0 .4

6 (B) 2 (A)

4 (D) 3 (C)

ßg]ì (Standard) ŠzŠgY)zZ]Å£g~ .5

 (A)

(B)

(C)

(D)

ƒÂ = 100º è¹̃k�XZ¤/ Zzg %œ/ÆŠZ],}Ã 'O' Š~ˆ^~ .6

¥x<

50º (A)

80º (B)

90º (C)

40º (D)

 CCE RR 3 81-U

   Turn over ] RR (B) - 5012



Å¢-.3ï
G
GGG¥x< tan2  60º + 2 tan2 45º .7

5 (A)

(B)

4 (C)

(D)

ÅMð¥x< ƒÂ =24 cm Zzg =7 cm iZzt‡#-*î JGìZ¤/  B ~ ABC .8

30 cm (A)

17 cm (B)

25 cm (C)

19 cm (D)

6 × 1 = 6 Šg`fsÆ�Z!*]s: .II

¥x<X (AM) »ˆ!Zz‰ 20 Zzg 16 .9

Å7¥x<X .10
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ì;g»Sky¥x<X 0.8 Zq-öÅÛA»Sky .11

ìXZjgkÅp5+k,~»°Š~u¥x 3 Å7 σ Zzg£g~Z�Zs 60 ( PZjgk»ˆ!Zz‰) .12

<X

Ð„HY@*ìÂ!*¹)Y(¥x<X ( x - 2 ) Ã P ( x ) = .13

Å7¥x<X (discriminant) Æ¡ ŠzŠgY)zZ] .14

Šg`fsÆ�Z!*]s: .III

Z�ÛZŠ 26 7,−I™D�Ô² (Magazine) Z�ÛZŠ̃G+ 35 Z�ÛZŠZ¶gZzg 40 Z�ÛZŠÆ¤/z{~ 60 .15

2 ŠzâV7,−I™D�XQyZ�ÛZŠÅ®ZŠ¥x<�:Z¶g7,−I™D�Zzg:„̃G+X

Šg`fs£°»ŠÎZV¥Á¥x<: .16

2  ,  , 1, -1, ....

2 Zq-)ëw°ŠìX U*"$<� .17

2Ì»ãCŠ~QßwÒy<X (a) .18

2 Å7sX 0 ! (b)
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2 Ø‰MZÑHq~oƒŸ‚ÆZEwÐzF,zVÅ®ZŠ¥x<: Š .19

Zq-]Âî LOQY%ÆŠ"~Šg`fsÆqÝƒä»Sky¥x<: .20

(Head) Šzh# (a)

2 (Tail) ÇŠz2$ (b)

2 »qÝ¢[¥x<X Zzg .21

2 : ©')é ENÃëw¯Dƒñ¿< .22

2 Ð{g`ëZzg!*¹¥x<: (synthetic division) F,0Ì„Æ§j .23

cccc****

Å7¥x<X k ƒÂ -4 »Zq-# x2 - x - ( 2k + 2 ) M¥0
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2 Û¢»ŠZ],{¯�XŠZ],{Æ¢ÆZq-)g}6,8ûEL˜k‚|#<X 4 cm .24

2 Å7¥x<X p ƒÂ Zzg Ô Š~ˆ̂~ .25

cccc****

∆ COD ƒÂ 84 cm2 »gK ∆ AOB Zzg XZ¤/ ||  ~ ABCD Ås

»gK¥x<X

2 ¥x<X cos A Zzg sin A Šc*ŠHìX .26

2 ìX 2 !©‹ð
G

· -y Zzg 45° Zq-âÅ)zZ]¥x<T»iZzt9Ÿ¹é ENƒ .27
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2 ÆŠgxyÃ,¥x<X B ( 4,  4 ) Zzg A ( 6, 5 ) Õo .28

ìX%zoÆ‡°}»Û¢ 37 cm Zzgâb—~ 4070cm2 q-‡ìæzg%zoÅâbR»gK Z .29

2 ¥x<X

2 ¯�: (Plan) Šg`fsŠØ‰¥â]Ðu .30

[ 20 m = 1 cm : e:  ]

¢a~  Ã C

J-  D 100

 

J-  E 60

220

160

120

 80

J- B 80 

Ð A

Šg`fsÎZÑ]Æ�Z!*]s: .IV

U*"$<�Ûzã`ÐŠZ],{ÃQ‰èõk: .31

)z~ƒD� (a)

%œ/6,)z~iZzt¯D�Zzg (b)

3 %œ/ZzgÛzãÃ̀�häzZáâÐ)z~9Ÿ¹é ENƒgnp�X (c)
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ìXZk~ic*Š{Ðic*Š{H0*ã�YìX 25 cm Zzg—~ 132 cm ‡ìæzgZ2Zä»” .32

3 kX( )

c*

ìXZk%zoÃ»™ 5 cm ZzgQkÆ‡°}»Û¢ 20 cm Zq-ŠJCk̂‡ìæzg%zoÅ—~

kX( ) Zq-̂k°æN{~eJÑŠHX“WzZá°æN{»Û¢¥x<X

3 c£g~Z�Zs¥x<: (Data) Šg`fsGzŸ] .33

 ( x ) âg¾ ( f ) CÅ®ZŠ

35 2

40 4

45 8

50 4

55 2

(Top) 6,�XfgÆŠxÐqg]ÅaK (Ground) ûZgyZy (Tower) Zq-qg]ZzgZq-fg .34

¢aƒ 50 ìXZ¤/fgÅ—~ 60° Zzgqg]ÆŠxÐfgÅaK»ùŠ~iZzt  30° »ùŠ~iZzt

3 Âqg]Å—~¥x<X

cccc****

U*"$<:

=  sec A + tan A
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3 ‚ÆZEwÐi<: Ÿ .35

x2 - 2x + 3  =  3x + 1

cccc****

Æ_.gƒVÂ x2 - 6x + 2 = 0 ŠzŠgY)zZ] n Zzg m Z¤/

(a)

Å7¥x<X ( m + n ) ( mn ) (b)

3 ƒ@*ìX Z»×VIzZá)z~ZÑHq[»gK a U*"$<� .36

cccc****

6,Zq- ZzgI D 6,Zq-` iZzt‡[ìXI C Zq-‡'*î JGZ²Zzt[ìT~ ∆ABC

  ìXU*"$< E `

g`fsÎZÑ]i<: Š .V

‚|#<XÆ%Zœ/ (direct) Û¢ÆŠzŠZ],zVÃgZ„œ�è¹̃k 2 cm Zzg 4 cm .37

4 ìX 8 cm ÆŠgxyÃ,

4 ìX 29 zZV¥Á 8 Zzg 13 zZV¥Á 14 Zg»y»ù·¥x<² 10 Zq-ˆ!£°ÆZ’Zð .38

cccc****

ìX 64 Zzgquÿ L¢[ 14 Zq-yÎ~£°Æ&áZF,Zg»y¥x<X»qÝ¦
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4 "$<�Šz!5Ò5é
II])z~Z²ZztƒVÂQyÆpÐøZHqpÐƒƒD�X U* .39

4 F,®Æfg=i<X x2 - x - 2 = 0 zZ] ) .40
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